20229 204t

Al

e AlEH
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= Ak
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Odl

A& & Al A

M AEH
M HHAIHI(AIEH)
&lr J1=3| (et &)
SA - BB SRI(E) - KIRAY - BES of v G HIREZ
AEH 436,230 407,040 29,190
HAERHAHI(AIEH) 106,750 95,600 11,150
Jl=2&Hl 106,750 95,600 11,150
Jl=3 106,750 95,600 11,150
201 Le+2H| 59,830 55,280 4,550
01 At22teld] 33,330 28,780 4,550
OgBt=ZH] 33,330
0I2ARES 100,000 x17¢! 1,700
OARRIID & HMARE 6,200,000& 6,200
0JIEH=2EHI 12,000,000& 12,000
0SS A257Y 150, 0003 %1400 A 2,100
0 =ZH 30,000&*1Q1x15& 450
0B OtH R S4H| 8,000& *1721%804 10,880
02 S=324H| 26,500 26,500 0
OZ232= & MAl 14,500
02EHR2 4,000,00024 4,000
&Rz 9,000,000& 9,000
0=E2= 2 HMMSL= 1,500,000& 1,500
O¢2Hl 1,000,000 1,000
OFAIE =Xt 4,000,000 4,000
OXt&= Al 7,000,000 7,000
202 Oid| 46,920 40,320 6,600
01 2L 46,920 40,320 6,600
OJ 2R304 200,000 +17¢1x12& 40,800
O380tl 30,000&*17Q1%12& 6,120
HHTX2H(AEH) 10,880 10,840 40
FHNEE2SE 10,880 10,840 40
Q2 A 10,880 10,840 40
203 HRF&| 10,880 10,840 40
01 J|22dRF48| 6,600 6,600 0
OJ|Z2dgex=d 6,600,000& 6,600
02 HRIKHRFAH] 680 640 40
OFBIRIG RS2 40,0002 x17¢! 680
04 EM2EYRF| 3,600 3,600 0
ORM2aYRF 300,000 +12& 3,600
AEE 2EXR 168,600 150,600 18,000
Sc|HE X 2| 161,100 143,100 18,000
ScleyEs2y 161,100 143,100 18,000
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EM AIEH
M A 2N
SEHE-—SEEEET (el &)
S - - SRIEH) - MIRAR - BaS e G HI DS
301 LEet2HS 161,100 143,100 18,000
05 & - 0% - tdas2as 161,100 143,100 18,000
Oo0|&==& 126,000
oJl==g 300,000& *30¢!x12& 108,000
0= 300,000& *30¢1%23] 18,000
Oo01&&sH| 50,0002 *30Q1%12& 18,000
Ozl &8 g 20,000&#30Q1+25|x12& 14,400
Ogtd=g 25,0003+5401x23 2,700
JIErSH 23] 7,500 7,500 0
SHAFXZ & ZFEER 7,500 7,500 0
203 BR=LH 3,000 3,000 0
03 A=A R =L 3,000 3,000 0
OUEIAE, F=28A S 3,000,000 3,000
301 22X S 4,500 4,500 0
09 HALAHIXIE S 3,000 3,000 0
OSY =QdAI ZII24 3,000,000 3,000
12 J1et2a= 1,500 1,500 0
OLHAYHPRFN QU201 Al S
1,500,000 1,500
F X R 150,000 150,000 0
AREFEI=AAY 150,000 150,000 0
ZZAY Y FUEHAAY 150,000 150,000 0
401 AlEHIZL =200 150,000 150,000 0
01 Al£H] 150,000 150,000 0
o257 & ARZAIE |RAE*
80,000,000& 80,000
OZ=2ad =28 SHAZHIAIY
50,000,000& 50,000
Ok=9 ZLXGAMNE 20,000,000& 20,000
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